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0000000 (exponential function) 0 0O O O
000,a00000000000a0000 (powendOOOODOOOOO.

0023 »n00000m0O00000O0O0O

=1 (2.17)
n 1

d'=axax---Xa, a’”:ﬁ (2.18)

ar =Va® (@0 n00) (2.19)

pO000000Op=1limp, (p,0000000)00000
n—> 00

a’ = lim o™ (2.20)

n—o0

000 MAO00D0O00DO00O0ORDO00 «00OODOOOO

obdxUOe«0OnQd0 o0o0oo0
oo00O2000000200030004000---00000000000O0O
Ubb0e«eUd n000D0O0ODOOO0ODOODOO

1.n0000000e0n0D0 000100000000 Y0000

lcosxOsinx0 100000000000000O0
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2.n0000000e¢>00n00 020000000000000 fe000000000
—-{a0000e<00000 0 n00 0000000
3. 00o0ooOOooooooooooooo

00 214@O00000)
a>0,b>000nrmO00000000

ailb = ab g = % 2.21)
Way = Ve ova= a (2.22)

0190 «000000000O00ODOOO0O \Z/EDDDD 200000000000
30200 «000000000O0ODOO0O0OO

000 AD0DOODOOODOOOOO0O0O00D0O00000000000000 V200000
RN

V2 = 1.414213562373095 - - -

0000000000000 {p,) 000
pi=1, pr=14, py=141, ps=1414, ps=14142, ps=141421,--.

O00D00lim, .p,=V20000000000000000000000000000000
0000 {p,)0000000D00ODOOOO0OODOODODOO @ 0a00000000DO (2180
DD(2.19)DDDDDDDDDDDDDDDDDDDDDDD(I‘EDDD

1 1.4 1.41 1.414
b

a', a'*, a . a 1.4142’ 1.41421

a a sttt

gobooobooobooon
gobooboooogn

00 215@0O000)
a, b000000p, qOO00DOOODOOODOOOOOODOOO

() dPa? =a?'?  (2) (@)1 =a?? () (ab) = a’P
a’ 1y 1 ay a?
—_— = P—q JE— = — — = —
@ a ®) (aP) art © (b) al
0024 000000000000 eM0O0000000O0O

3 4 NI
W) Y Va2 ab* () —“ij’?‘z/“_b
a

RN

N N@Pab* = @b ab 9t = @bt = adb

=1

-
Sl

atzh

I
IS
NI
+
=
oy
=N
|
Sl=
I
IS
Sl
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(2)'0275§«ﬂ55 (@b%)3(ab)? _ aSbiathr _ aitibits
Va2 (@b atbt abb
241 1. 5,41 1 u
=a3t278p3t273 = ghs
0000

a0000000ae+#100000000000 x0000D000 «*0000O0DO0O0ODOOO
goboooboood

00240000 0000e+1)00000x0O00
y=a" (2.23)
O0aeO0D000O0O000O0O (exponential function to the base @) 0 0 0O O

O00y=e*00000e¢>100000e<10000000000000000O00a0 100
00000000 x000D0 «*>1000000x>x 000000000000

a?=a”>"a" > a"
oo0ooooooooooooooad
1. 00000000 ROOCOOODDOOO0O (0,c0)
2.0000O,H0000x0000000 (asymptote)d 000

3.>10000000000000000OCO0O0Ox0000D00y0DODOOOyODODOOOO
xgooogo

4. 0<a<10000000000000ODOOOODOxO00DO0yODOOOyOODO
b x0ooognd

4 4
2 2
-3 -2 1 1 2 3 -3 -2 1 1 2 3
02%:0000y=2% O210:0000 y=@1/2)"

y=2*0y=(1/2=2*00000 x0 x000000000000y=2*00000 y0O
0000000000000 y=(1/2*00000000

000000 y=(/e)) 00000 y=e¢* 00000 y00OO0OO0O00O00O000O00000O
02900210000000000000
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ggod
gbobooobooboooboobooboobboa
a>10000000000y=a¢"000

obobobooboobbobobboobobo MMOoD

oo
a? =M

00000 pO0O0 10000000 pO

log, M
o p
O0000e0D00O0O0 MODODOOD (ogarith-
mic function to the base ) 0 0 0 O 0211:00000

o0 21.6@O0000)
a>0, a#l, M>0000

log M=p—a' =M

00250000 7p="000000000
Mg=a*"'  (2)3g-1=2%"

00 M2p-1=r00000000000O0 g=a" e=r=log,q=2p-1=log,q=2p=
1+log,q & p = 1(1+log,q)
2r=3p+S5, s=3¢-1000000000000 s=2"¢r=logs < 3p+5-=

log,(3¢— 1) & p = 1(-5 +log,(3¢ — 1))
godooUooouoouo2lsgooooouooouon

00 217@0O000)
a>0, a#1, p>0, ¢>00000000000000000O

(D log, pg =log, p +1log, q

1
(2)log, 2 = log, p—log,q, log, P log, ¢
(3)log,q" =rlog, q

O0oo0()Oo @Goooooo
(OWM=1log,p,N=1log,q 000000000000 0p=a",¢q=a"0000000000

pqg =d%ad" =" @©ODOoO Q)
goooooooooooooooo

M+ N =log, pg =1log,p +log,q

18



ooodoooooooo
(3)N:10ganDDDDDDDDDDDaN:qDDDDDD rd00oooooooa
@Y =q e d""=q¢ & Nr=log,q = rlog,q=1log,q". O

00 218@C0O00O0O0O)
a>0, a#1, b>0, b#1, ¢c>000000000000000O00O00O0

loe b = log.b
%= log.a

O00log, b=p0000000000O00=>b.cO00000000000O00O0O0C

log.a’ =log.b < plog.a=1log.b (DO OO (3)

log. b log.b
a#lDDDDDDlogca;tODDDDp:IO Oo0O0000log,b=

2. a log.a

C

0026 0000000000
(1){og, 3 + log, 9)(log; 4 + logy 2) 2) log% V32

o0MOOooooz2000000

(log, 3 +log, 9)(log;y 4 + logg 2)
log, 9\ [log, 4 N log, 2
log,4/\log,3 log,9
2 1
+
log,3  2log,3

= (log2 3+

= (log, 3 +log, 3)( ) = (2log, 3)L =5

2log, 3

1Y 5 5
(2)log%\/3_2:rDDD.<:)(§) = V32 e=2"=2000 -r=500000r=-3

goboooogon

x0000O0O00O00D0O0«000DOO00ODOOO g, x0 x000000COOODOODODOODOO
ggod

y=log, x

O0x>000000000000DO00DO
gboooobooboooobooo

1. 000000000000000 0,)dO0DODOO0OD0O0O RO
2.0000Q,00D000yDO00ODOObODOOO

3.a>100000y=log,x000000000O0ODOOODOO

X < Xp & IOga X1 < IOga X2
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4. 0<a<100000y=1og,x000000000OOODOOO

X < Xp & IOga X1 > IOga X2

0000000y =log,x<—=x=00000000y=¢"00000000000O00
00000000000y =log,x0x=20000000000,x=a"0y=a¢"00 x0O yO
00000000 0DO000y=e"0000000y=x0000000000000 y=1log,x
googooood

y=a"

log, x

0212:y=log,x (a>1) 0 213:y=log,x (O<a<l)

22 00000000
221 0000

20000
f:A—B g:B—C

0000000000 0A0ODO0ODOO xODOOD0OOy=f(x)00 BOOO yOOoOo 1000
0000 BOOOOOOOyODDOODOz=g»OO COOOzOODO 1000000

O0000z=g(f(x)ODDODODDODOOODADO COOODO A :A—COODODOOOOOOO A
O f0 ¢g000DOO (composite function D00 Oh=ge fO0OO0OODODOO

h(x) = (g o f)(x) = g(f(x))

000020000 f,¢0000000DOO0ODOODOOOO Kx)=g(fx»DO fOgOOOO
googoo

O 2.6 f(x):x+1,g(x):%DDDDyzf(x),z=g(y)DDD

1 1 1
(o0 =80 =80 == 575 = 13
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O00y=gx,z=f»O0O0O

1
(fog))=flg)=f=y+1=g0)+1==-+1

X

000000000000000000 x0000 o)) = (fog)x) OODDOOOO
go f# fogl

222 000

00 fx)O00OD00DO0O0O0000D000 e<x<b000000 x, 0000

x1#Ex2 = fx)# f(x)

0000000000 fx0000000000 101000 (one-to-one function) 0000000

027 f(=x0000 -1<x<10000010100000000000<x<c00 10
100000000000101000000DO0000DOO00OO00bODOO0ODOOODOO
O0000fx=a*(e>0,a#1)00000 ROOODO 1010000000

00 f:A—BO 10 1000000000B0000000O0OO AOOOODOAODODOO
Ob=foO00O0O0O 000 100000

0000000000000 yyOODODOOy=f(x»)O00OO0O AODDO xODODOODOOOO
0000000000000000000 BOOOO0 AODDOOODODOOODOD 00000
0000 fOD00O0O (nverse function) OO0 0000000000 DOOO0OOO0O

y=f = x=["'0

0000000000 x0000000 yOOOOOOOOy=fx00000y=fY»0O0
oood

OO0 y=fx0000x <x 00 fix))< f(xp)OODODODODDODOODODODOODOO
00@214H000 y=f(x») 00000 (monotone increasing) 1 0 000000 O0OO0ODODOOO
O000O00D0D0O000 (monotone decreasing) 100 0000 OOODO (monotone function) 0 O O [
y=f(x0DOO0OD0ODODOO0O0OO0OO0O pODOOODfMx»=p000 xO0OODOO 1000000
00000000y =fx010 1000000000000 x='»)OOO0OO0O0OO0O000O
y=f 000000000

028 () fx=x00000000000010100000000000000000O00
0000000000000000000<x000000000000000000000<x
0000 y=2"00000 x=/10)= XF=y% 200000
QfM=x-1000x<00000000000000000000y>2-100000000
00 fx) 00000 x<000000 fl'x=-Vx+100000

VWO000000 fx) = fxn) = x1 = x 0000
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223 00OO0OOOOO

000000 fWOO000 f'WO000000y=/(x)00000000000 y=/"'®0
00000000000000
y=fxO0000000000 Pe,h)00000b= f(@000000000000000O00
00b=fYo0O0O000000P@hO x000y0000000000000 Q,a)000
0/ »O0000000000000 Pa,b)00 Qb,e)0000 y=x000000000000
000000 y= 0000000000 y=/ (00000000 y=x0000000000

00221(000000000000)
00y=fOO00000y=/'»O000000000000000
1.0000000000000
2.000000y=x0000000000

78

021400 y=fx000v=F4)

0000 y=a*(@a>0,a+ 1001 <al
O0000000<ae<100000O0O0DOO0O
0000000000 0<y<ecOOO0O
ooooooy>0000000000000

a

O0x=log,yOOOOODOOODOOD OO ‘ i , log; '
00D00DOO0y>000000000 RO

000D 21500000000 y=a"000 -4
O0y=log,x000000O0ODDOOOO

Oy=x0000ODDODDO. 0215:0000 «*00000 log, x

DDDy:a”‘:(é)xDDDDDDD y=a*00O00O0O0yOOOOOOOODOOOODOOOOO
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0027 0000000000000
f)=x>—4x+5 (x>2)

O00y=fxO0y=Ffx0000000
oo0o0o0000On
0

y=x>—4x+5 (x>2) (2.24) )

Oy=(x-2%+100000000000 f(x)
O000y>10000@24)0x00000
O0y-1=x-2?000x-2>00000
0x-2=4y-1.0000000000000

1 2 3 4 5

x=f1l)=+y-1+20000x0y000O 0216:y=x"-4x+5(x>2)0 y=Vx—1+
O0O0O0y=f'x=+Vx—1+20000 2(x= 1)

OO0 HoDooooDO GW. LeibnizO 167000000000000174300
000 AC. Clairant 0 L.Enler 00000000 f(x)OOO0OOOO0OOOOEulerO
O0o000ooo0oo0ooooooooooooooooooooon (1745)0PG.L.
Dirichlet 0000000070 Fourier D00 ODO0OODODOOODO (1837) 00000
xela,] 0000000 ODOODOO0DOO000OO0ODOODO0O0OOODOO xODOOODO
00000000000 000o0oooooooDoo0oooOooooooooorg
00000000000 ooDooooooooDooooag

Q)y=f(x0O0O000yOO0O (agumentyx OO 000 f£O00O (assume or
takeon) D (value) D000 0D0O00ODOO0ODf0O0 x0O0yOOOOO (map) 000
000 (ansform) 00000000000 DOODDOOOODODODOODODOOOODOO
000000000000 D0O0 (map or mapping) 0 0 O O (transformation) 0 0 O O
(correspondence) 0 0 O O O (operator) D0 OO0 0O

300000000000 (Gnterva) 0000000000 OODOODOODODODO
0000000bOOooooood

[a, P10 a<x<b0O0O0O
(a,b]0 a<x<bhbDO OO
[a,p)0 a<x<bOOO
(a,b)D0 a<x<bDO0O0O
00000ooooopoooooooog

[a,c0)0 a<xO00

(a,c0)0 a<x000

(—e0,c0) 00 OO0ODOO

@®20000 f,g0000 cqual)IOD0f,g0000 AODDDOOOODOD x€A
0000 fixy=¢gx0000000000000000O0f=g000.
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23 00000

00 fx00000D0O0OxD«000D00O0O00ODO0ODO0eDO00ODODOOO0ODOOOOODOOODO

0000 fx))00D00000 p0O0000D00O0D0ODO0OO0ODO0O0x—aeb00 f(x»—bO0OO

lim f(x) = b

O000Hs0x00000 «00D0O00DO0O fOODO dimi)OD OO
00 x00000 «000D000D00<x-a00000000D0O0D0O0fx»O000O0O bO
oo000od |fx»-5000000000000DO0O0O0OOO

limf(x)=b < lim|f(x)-b/=0

00 x—-»ae000 fx)000000000000D0000000000OO0 co000O0 (diverge)
000000000D0000D0000000000000 —o000 (diverge) 00000000
00

lim f(x) = +eo,  1im f(x) = —co

oooooood
lim f(x) =—c0 < a0000 f(x) <000 lim|[f(x)| = +c0

029 00000000000 217~022000000000000

20
17.5¢

15¢

1p. 5¢ -2

10t

.1 .
o 2.17: )lclj)l(l)x—z =00 0 2.18: )lclil(l)logz |x| = —c0
1.5
4,
1
21 0.5
-
2 n 1 2 10 5 5 10
-0.
-2t
-1
-4t
1.5
1
0 2.19: lim il 0 0 2.20: lim f(x) = 7/2, lim f(x) = -n/2
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U0b00x—-cc000x0D0O00DOODOOO0OOO0O0DOODOODOOOODOODOODOODOO

0210 02210000000000000000D00CO00000DOODODODOOOO0OO

sinl/x (x#0)
f) =

0 x=0)
O0x00000000 fpOOODODD fOUDOO0DODO0D0DO0ODODOODOOxO {1/ar00O
0000000 o00ooooooDOooOooooooDo
. 1 o
lim f(—) = lim sinnr =0 = f(0).

ni n—00

n—o0

O00x0 {1/Crr+x/2} 00000000
0000000000bOO0ODOOO

lim f(

n—eo” " 21 +

)= lim sin(2n7 + g) = 1# f(0).

3
O00000lim, .o f(x) 00000000

O00oO0ddlm,, o f(x) 00000000000
lim, .o f() 0000000 -

0000 00000000000000000 .
D000 @O0000)0000 0 221 lim, 0 f(x) 0000000

231 0O0OO0ODOOOOOOOOO

xO03000000000000tanx —-ccdO0O00O0O0ODO0O

lim tanx = co
x—/2-0

0000x0300000000000tnx00000 «000000000000O00O00O
UooboboobOob ocg0dbO0buOnDooobb0obOobbo0bbD cc0bOo0ooooonog
god

O00x03000000000000tanx—»-coc000000

lim tanx = —oco
x—/2+0

O000limO00000 5-0,3+000x00000000000000000000000

00000000 ImDODO0D0O000O0ODO0O0O0O0
Ub0o00x0e0000DOD0DOODOO0OOODO0OD aO00DOD0DO0ODOx0D000 «e0OD0OO

O00D0Dx—-ae+00000000x0 «000000D00DOOODO0O0OO0O «0ODOODOOOO

x0000 0000000 x—-a-000000000ae=00000 x—-40,x—--00000
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20¢

15}

10}

-10F

-15°F

-20¢t

0 2.22:y=tanx

x—=a+0,x—>a-00000 f(ODODODODOODOx0 «0000D0000DOO0OO0O (right
limi)OODOOO0O0O (eftlimit)y 000000000000

lim f(x), lim f(x)
x—a+0 x—a—0

-2
0211 0000 f(x)=%DDDDDDDDDD
x=2000 fx)O0O00D00O0O00D00 x- gl

2>0000 fx)=10x-2<0000
fx=-100000000022300000

0.5}

alsl=f=fsisls . - .
Jip S =1, lip =
0000x—0000 fx»00000000 .
000000000000 lim, f(x) 000 =2
0 2.23: f(x) =
0000 x-2

232 0O0OO0OO

gooooboboooboooboboobbooobooobooboboooboboobbag
gobooboooboooboboobboobboobon

00231@000000000)

lim f(x) =, limgx)=B,0000e.A000000 000
(1) limkf(x) =klim f(x) 0O000kKkOOO
(2) im(f(x) £ g(x)) = lim f(x) + lim g(x)

() lim f(x)g(x) = lim f(x) lim g(x)
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(@hmﬂﬂ—ggﬂ@ O000lmgx)=B%0
x—a g(x)  lim g(x) g & =

(5) 00 00O (constant function)f(x) =c 00000 limf(x) =cO0000

2
+ax+b
DD28hm£—ﬁ%—=3DDDDDDDDaﬁDDDDDDD

x—1 X —

00 lime(x—1)=0000 lim1 (X +ax+b)=1+a+b=0000000000000

Z4+ax+b
— (00 0000o0U0oo0oooU0l+a+b=0000

1+a+b¢ODDDDIin} =

C xX*+ax+b . (x-Dx+a+1)
lim = lim
-1 x-1 x—1 x—1

:lin}(x+a+1):l+a+1:3

Od000ae=1b=-2.000000x—-1 < O0<@x-1-0 (x—-1HOOO0OODODOO

ggod

ooo
DX +x-2 . (x+2D(x-1
lim —— = lim ————~

= li +2)=
x—1 x—1 x—1 x—1 xlj}}(x ) 3

3
oo 29 lim(Vx2+ax+bx):—§DDDDDDDDDD a,b00000

O0y=—x00000x—>-00 <= y—ocodOOO00O0O0
lim (Vx% + ax + bx)

= lim (4/y? — ay — by)

L 3 (Vy? —ay +by)
= lim(4y? — ay — by)——= "
¥y (VY* = ay + by)

0000 limy (1 -$+0)=1+b# 000000000 1-»*=000000000 lim, (1~
Ply-a)=c000 -00000000-30000000001-4*=000000000

0000 1+6+000000b=10

lim ——2 4 3

y—oo [1_%+b 1+bH 2

O000a=30
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god

lim (VX2 +3x+x)

= lim(4/y? =3y -

y—00

e 3 (V¥* =3y+)

= lim(yy? =3y =y) ==

y (Vy*=3y+y)
2 a2

C i YY)

VIR N -3y+y

. -3 -3
= lim

0212 lim(3*-2H00000

s 3. 141
y

lim3* =co, lim2*=co00000000 2310 2)limB3* -2 = lim 3* - lim 2* = co —co [

X—00 X—00 X—00

2\" 2\
DDDDDDDIim(g) =ODDDDlim3x{l—(§)}=OODDDDDDDDDDDDDDDD

0000000000000 0000b0000D0x>20 (3/2*>2000 G/2-1>1000
goo

(3 -29=2" {(%)x - l} >2% (x>2)

0000x—ec0O0O02'000000000000ODOOOO2*000O0O00 3 -220000
O0oooooooooo lim@3* —2%) = ool

X—00

233 00O0OOOOO

gbooboobogoogooboobobooboobbooboo

00 232@0O00000)

(l)lilllf(x):w, liLIlg(x):,G,DDDDa',,BDDDDDD goo

anDaDDD xDDxDaDDDDD f(x)Sg(x)DDEJDwzlilllf(x)sliillg(x):ﬁDDDDDD
(Z)Iiinf(x):liing(x):a'DDD o o
al:JxDaDDD);I;JDDDDDDD f(x)Sh(x)Sg(x)DDDD)lCiLI;h(x):a'DDDDDD

0023000 1000000000000 00000O0000000000 00O 0O 0 Archimedes
0000100000000 0bO00oO00O0ooOO0OoO0DOooooO0obObOOobOoOUoDbDoooDoOoo
goboooboobboboboon

voouboooubooooubuooubuodoooodoooouooonouoooa
sinx

0000D00x0000000000000000000000y=2¥0x=0000000
X

000000 224000000 x=000000000000000000000000000

h%ggzlmmmmmmm
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220 20

oo 233

T
A

RN
O0x>0000002250000000 0O
00100000 cA0B=x000 BOOOO
00 oBODOODO 0ATDODODOODOOT
0000000 A0ABO OO OABO AOAT O
gooooood

AOAB <00 OAB < AOAT

goboopooooooobobooo Df’“::*"

1. X 1t
zslnx< E < E an x 0 2'25:

tanx = cosx/sinx,sinx > 0000

sin x
cosx < — < 1
X

. . sinx . . sinx . sinx
gooooouoong limeosx < lim — < liml10 1< lim —<1000 lim — =1.
x—+0 x—+0 X x—+0 x—+0 X x—+0 X
x< 00000 x=—0000y—-+0000
fim SPE g SO g, TSy Sy
x—=>-0 X y-+0 =y y—-+0 =y y-+0 Yy

00000000 10000000000 00DO00d0O

OOlo()ooooooo0ooo0ooo20000 fO0g0OOO00ODODODOODO
x0O00OO000O0O0O000O0O000DO0O0O0O00ODO 40000 f4+gf-8fsflg
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gooogo

O:f+g (f+8)x) = f(x)+gx)
O:f-g (f-8x =[x -gkx
O:fg (fe)x) = f(x)gx)

D:(J—p)(x): @,DD O0gx)#0
8 8(x)

000000000000 (f+9x=f(n+gx00f+g0000000 x0O
0000000 f(oO gx»)00000000O0D0000 fixy+gx0000 +00
00000000000 f+g0000 +00000000D0ODO0O0ODODOOODODO
0000000000000 00 400000 (overloading) OO ODOODO

000000000000 000000O00000000O00O0DODOO00OD0O0O0d
0000000000000 O00o02000000 Ix)=x,f(x)=c000000
000 (identity function) 0 000 0000000000000 ODOOOOOOOOO
oo0ooooooolxo0oo x,p,eNOODOOOOODOOODODOOODOOOOO
000002000 ax*+bx+c000000000000 200000 (polynomial)
apX"+a1x* '+---+a, 1x+a, 00000000000000000000O0O0O0OOO
000000000000 000D NIOODD0OO0000 (meromorphic function) O O
0000000002x+50 ¥*+1000 if:fDDDDDDDDDDDDDDDD
0000000000000 0o0bO00oobO0oooobO0oooooooboooooog
00000 (transcendental function) 0 O O [

()00 23100000000000000ODOO0ODO0O0ODOOODODOOODOO

lim(f + g)(x) = lim f(x) + lim g(x)
Lim(f = g)(x) = lim (x) — lim g(x)
lim(fg)(x) = lim f(x) lim g(x)

lim f(x)
im0 = i g9

24 0000

ooobo0ooOOo0ooOOooOoOOoOooOO(@bOoOo)yooooooooobobooDboooo
goboboobobooobobooooboboobboooobbooobboooboooboba

0000000000 (eontinuity) 100000000000 O0OD0OOODOO

O000D0y=fx0OO0O0OD0 x=e00O0O0OO0ODODDOOOOD0fxOx=a000000
(continnous) 0000000000000 yy=f(x)0000000000000O00O0O0OO0O0O0O
gobgoboobobooobooboobooboobooad Z.ZIDDDy:sin%D x=00000
goboobooboboobbobbobooboobooooobobobbobboobon
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01:10000001:10000000000000000D0O00000O00ODODOODOODDOO0
y=sinx 00O [-x/2,7/2] 000000000 1:100000000000O0O0OCOO0OODOO
0000000 (inverse sine, arcsine) 0 D0 000 aresin 000 sin ' 000000000000
arcsin 00000 x=arcsiny0 00000000000 DO xO0y0DODOODOOODODOOODOODO
O00x00000y0OODOODODOOOy=arcsinxODOODOOOODOO [-1,1]0000000
[-7/2,7/2]000000000000000O0O0O0ODO (T 41400).
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0414000000 y=sinx (—a/2,n/2)0 y=x00000000000000O.

00422 0000000000000,
1 1
(1) arcsin 5 (2) arcsin|[———

1

1
DD(l)y:arcsinEDDDD sinyzz (— 000d y=mn/6

NI}
NSRS

<y<
2

— inf—_L inv=_L (_
(Z)y—arcsm( )DDDD siny = -5 (—n/

;i <y<a/2)000 y=-n/4

y=arccosx OO QOO

y=cosxOOODO (—e0,00) 0 1:1000000000000DOD0 [0,nl00000O00O0ODOOO
00000000000bO0oooDoobOOooooo [-L1]Jo0o0b0b0bD0oo00ooOooooon
00000000 (inverse cosine, arccosine) D DO Oy =arccosyD O O0O00O00O xO0yOOdDOO
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goboboobDbooodxpDboo0yoboooDboOoObDy=arccosxO0ODOOOODOO
[-1,1] 0000000 [0,7] 0000000000000 000O00O0O (O 41500).
y

3t

Y = arccoszx

Y =Coszx

0415000000 y=cosx (OomOy=x0000000000000O0O.

00 4.23 arcsinx +arccosx =n/2000.

OO0arcsinx =y0O OO0 —a/2<y<—n/200x =siny00 000 Ocos(r/2—y) =siny =x00000
O<y<n200000000000000 n/2—y=arccosx 10 00O00ONO Oaresin x+arccos x = m/2
oooog.

00424 000000 ODOODOODOO.
1
(1) arccos (—%) (2) arccosO
oo My arccos( 1)DDDD cosy L O<y<mOOOy il
= _ = - < <7TT = —
V2 4

S

2)y=arccos00OO00O cosy=0 O<y<mDOO0O y=mn/2

y=arctanx Qg

y=tanxOOODOODODOODODODODODOODODOODODOODOOOO (-n/2,7/2) 000000 lim tanx =

—m,xljr%Otanx:ooDDDDDDDDDDDDDDDDDDDDDDDDDDDDDG7(r/—2;<§),oo)
0000000000 0000D000000000000 (inverse tangent, arctangent) 00 O O [
x=arctany 000D. 00000 x0y0OOODDODOOODDODOODOODOxODODOOO yODO
00000000y=arctanxO0 00000000 (-e0,0)J 000000 (—n/2,7/2)00000

O00000DO0O0ODOOOo0oD (@ 41600).

0041000000 sin'x,cosxtan'x0 00000000000 0OO sinx, cos x, tan x [J
1 1 1
00 — =(sinx) |, — =(cosx) ', — =(tanx) ' 000000 DDODOOODOOOOOOOO
SIn x C tan x

0sX
gogbooboooboobobooobod
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21 y =tanz

Yy = arctan

-3t

O0416:000000 y=tanx (—n/2,n/2)0 y=x00000000000000.

00425 J0000O0O0O0O0OOOOO.

1
(1) arctan1 (2) arctan (——

V3 i
OO0 y=arctan1 0000 tany=1 (—n/2,x/2)000 y:Z

1
@y =arctan(~) 0000 tany = —f CR2AA000 = -

49.2 O00O0OO0ODOOOOOO

o000O0o0obDooooOobo @Geooooooooobooooooobooo.

004910000 00000O0O)
goboobooboooboooboboboba.

1

(arcsin x)’ = — (-1<x<1) (4.14)

(arccos x) = — 11—x2 -l<x<1) 4.15)

(arctan x)’ = ! 4.16)
1+ x%

00
y=arcsinxy (l<x<1N)O0O0O0O-n/2<y<n/20 x=siny0000

dy 1 1 1
dx  dx  dsiny  cosv
dx i % cosy
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—n/2<y<x/200 cosy>0000000cosy = \/l—sin2y= \/l—xzDDDDD

dy v
i (arcsinx)’ =

1
V1 - x?
y=xx/20000000 x=x10000000000000000000000000O00O0O.
O0O0OOy=arccosx (-l<x<1HOO0O0OO0<y<aO x=cosyddO0d

dy 1 1 1
__E:d :_.
dx i % siny

O<y<aODsiny>0000000siny = 4/1 —cos2y = V1 - x20

god
1

V1 — 2
yv=0700000000x=+1000000000000000000003
y=arctanx OO0 0000 (-0, c0) J000x=tanyO0 000000

dy = (arccos x)’ = —
dx

dy _1_ 1 _ o1 1
dx_‘;_;‘_d‘;ﬂ_ y_1+tan2y_l+x2
y

00 426 y=arcsinx—-1) O<x<1)ODODOOO.
O0u=2x-1000,y=arcsinu 0000

1 1
& = dy du = (arcsinu) 2x — 1) =2 =2
dx  dudx Vi-u?  Vx-x2

493 000O0O0O0OOODOOOOOO

00d491000000000004210000000000000000DOO.

004920 00000000DODOODO)
goboooogoogn

1
dx=arcsinx+C (-1<x<1) “4.17)
f\/l—x2
1
f dx=arctanx + C (—oo0 < x < 00) (4.18)
1+x2

(arcsinx)’ O (arccosx) 0000000 DOOO0OODOOOODOOO

1
dx=—arccosx+C (-1<x<1)
f\/l—x2

googooo

00427 00000000000,

a | 2 g (Z)f\/az—xz (a>0)
o 1+cos?x 0

OO0 () t=cosx0000000 x000000

dt
T =—sinx00000 dt =-sinxdx
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0000
(|1 - -1

x‘0—> T

gobooobooobooon

T sinx _sinx -1 —dt
X =
o 1+cos?x 1

1

f 1+12 [arctant] 1
1

n

2

0bo0o0oobOfdbo0Ooo0ogoboUoOo,.D00oObo0obOOoUooObOOoboOoooOoo

f Va* — x2dx = f(x)’ Va* — x2dx = [x Va* - xz]z - f x(Va? - x2)dx
0 0

f” —2x a2 —x% - a2
=— | x————dx=-
0 2Va?-x2 0 Va2 x2

- \/az—xzdx+a2fa—dx
f 0 Va2 -x2
—fu Va2 - 2dx + a* [arcsinf]
0 alo
—fu Va? = Xdx + ?2
0 2

googooo

2
na

Va2 — x2dx =
[d T

Ve -x2dx000000000 100000000000 7240000
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